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1.  Uh RN BeMl & gSolls fordl Wl 1. Headline of a news story is generally

2 givenin :
(A) TAHH B | (A) Present tense
(B) Hddle ¥ (B) Past tense
(C) I T 4 (C) Future tense
(D) SWE ¥ | FIg el (D) None of the above
2. TPH BICHUH B Th DR T W 2. The process of sending a photograph to a
I A R FEaT & computer screen is known as :
(A) ooR fifeT (A) Laser printing
(B) T (B) Scanning
(C) fdatfUr (C) Clipping
(D) WP (D) Copying
3. & b yihar g% 8l & 3.  The technology development process
starts with :
(A) THAD! STET A (A) Technology production
(B) TH-d! fAdr ¥ (B) Technology generation
(C) TE-Id! Wi 4 (C) Technology testing
(D) TH-ND! Befd o (D) Technology dissemination
4, HOR ULHT H HeH AR 9 © - 4. The most important element in the
communication process is :
(A) 9 (A) Source
(B) ¥ (B) Message
(C) HwreH (C) Channel
(D) TIeh (D) Receiver
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9l & Hisel H dedl Bl G B

(A) TR
(B) UM
(C) @
(D) ¥

CAldhE Bl UHR el o AT IS
STNGA! Sel Wigd @1 §Hed  d
gRafifd &) & €
(A) STT BHIFHRT

(B) TUBITdh FaR

(C) IIgeadIicld AR

(D) ST PRI

qEd AR Towde UWeldid H Ug

T, 3T, O BT R A E
(A) e g aé
(B) U SIRMGE i
(C) ¥ R Yreieier
(D) ¥ FIRICEH e

# U4 39 T6I9 ¥, WR G YT dbve
8000 T T T A o B T A
foram T 2 |

(A) 5 fdca ufd davs

(B) 6 faca ufd davs

(C) 7 facu ufq Havs

(D) 8 faca ufd davs
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(4)

The number of elements in the model of
Berlo is:

(A) Four

(B) Five

(C) Six

(D) Seven

Type of teleconference whereby two or

more users are able to edit and modify
data files simultaneously :

(A) data conferencing
(B) synchronous communication
(C) asynchronous communication

(D) video conferencing

In voice over IP, term SIP stands for :

(A) Session Initiation Port

(B) Session Initiation Path

(C) Session Initiation Protocol

(D) Session Initiation Packet

In audio and video compression, voice is

sampled at 8000 samples per second
With ... .

(A) 5 bits per second
(B) 6 bits per second
(C) 7 bits per second
(D) 8 bits per second
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10.

11.

12.

Ic-cred 2 @ WEA B mawear 9.
g

(A) SRR @I

(B) HIBINST I

(C) W

(D) RIARS ol

YR bl FGEROT & T o - 10.

(A) Tl gRT

(B) W gNI
(C) I gRI
(D) BMdels gRI

IR Bl T9-U9-U-R dfed 331 T 11.

o :
(A) I GRI
(B) NN gRI
(C) oM gRI
(D) el &R

g Rolleg@™ # U6 dHer % g1 12.

NicIRE

(A) 1024 x 768
(B) 800 x 600
(C) 1152 x 864

(D) 1280 x 1080

EXT-5012 (5)

The real-time traffic needs support of :

(A) Translation

(B) Multicasting

(C) Integration

(D) Security

The concept of Feedback was introduced

by :
(A) Berlo

(B) Leagons
(C) Stevens

(D) Hovland

The S-M-C-R model of communication
was given by :

(A) Lasswell
(B) Leagans
(C) Rogers

(D) Berlo

In the lowest resolution a colour frame is

made of :

(A) 1024 x 768
(B) 800 x 600
(C) 1152 x 864

(D) 1280 x 1080
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13.

14.

15.

BRG] g AT (. U 3ME) Tl

(A) ¥ FETRT . T, I,

(B) STEH Wl T. IS,

(C) THHT EMHS . T, s,

(D) TCallvie W1 T, 3.

79 faenidal gRT W= wu A W FRA

& ol IR WITCdR &7 qATHT I &,
ar 78 iR S ofa emawd §

IE T S JERaT &l @

(A)
(B)
(©)
(D)
SoTE MR ET @ favelyor #
faenfl @) qerr GuRe H 9gd & gl
fopa g -

(A) TEEeAl & Bl @A B felg

ST I BT TINT

qESdl b ol GHER gHf

deflgcd Pl ‘:Lc*eall.cb"l

BT T AT 2

G, Hela” Td @ $l wiedl @

(B)

(C) HUF & foly AR g1 & foy
CIERIFRREEEEANE AR Ikl
(D) IS RRAT  WiwedR T W

SSIEERI
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13.

14.

15.

The Computer Assisted Instruction (CAI)

technique  based on  Programme

Instruction is :
(A)
(B)
(©)
(D)

Frame based CAl
Generative CAI
Problem solving CAl

Intelligent CAI

When evaluating software designed to be
used independently by students, it is most

important to determine whether the

software :

(A) has multiplatform capabilities
(B) has an abundance of graphics
(©)
(D)

is easy to navigate

integrates audio, text and video

The activity would be most effective in
improving students’ skills in critically
analysing Internet-based information :

(A) using an electronic dictionary to

look up vocabulary words

(B) evaluating news-related websites
for objectivity

(C) wusing an online encyclopaedia to
find information for a research
paper

(D) learning to use web-browsing
software
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16. AT H & W1 oAl e wfdd gwT 16. We see all the events in the world

Ty §? through the power of :
(A) -5 qHl (A) A.V.aids
(B) e (B) Cinema
(C) Ui (C) Projector
(D) H<alse (D) Satellite

17. foam & 9 fedr w® m@ﬁ GARKSCES| 17. The best way of presentation for Radio

talk with the farmers is :

3BT T B

(A) e TdI (A) Group discussion
(B) SEHR (B) Interview

(C) Hadad (C) Lecture

(D) (D) Songs

18. ®WIXX g arjé?rr{ e fqgva W 18. Computer Assisted Instruction in based

STETRT 2| ON v, principle.

(A) IR Sae (A) Operant conditioning
(B) ferRufifsd Urgaer (B) Classical conditioning
(C) U e (C) Pavlovian conditioning
(D) fcifchararal Sraer (D) Respondent conditioning
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19. 3fepqy  afmm  swidvor @ fo
fferRad Rerfoal § 999 el pl9-w0
Bt ?

(A) FIM BIAT BT ITT-3TT Hfafshan
el

(B) WM BRI Bl WHM Uil afey |

(C) @Il BAl Bl FT-3Te fafha
el

(D) 3T BRI BT FHH Ufifshar @y |

20. Id-ClRH gcxfdeq offfsar-difsar § frex
B AT <A sl H o [ U fe
ST &

(A) HH
(B) UaeH
(C) oA
(D) fiRicq

21. “U9PIRCT” BT FIY 3BT qU 9T B
g7
(A) 3T R AIfeAr Y &1 faeaRor
(B) 99 fSSg gRI Aifear ywfd
(C) 99 AT gRT HfsA wfal
(D) SUYa H A Bl el

EXT-5012
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19.

20.

21.

Which of the following situations would
be the best for maximum transfer of

learning ?

(A) Similar tasks requiring different

responses.

(B)

Similar tasks requiring the same

response.

(®)

Different tasks requiring different

responses.

(D)

Different tasks requiring the same

response.

In real-time interactive audio-video jitter
is introduced in real time data by the
delay between :

(A)
(B)
(©)
(D)

Frames
Packets
Layers

Pixels

What describes “Webcasting” best ?

(A) Media presentation distributed over
the Internet

(B) Media presentation using Web

Designing

(C) Media presentation using Web

Creation

None of the above

(D)
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22 YRAIY H <. 9 W YUH IR T% foran 22. The first telecast on T. V. in India was

T started on :

(A) 15 RIaTw=R, 1959 BT (A) 15th September, 1959
(B) 15 3TATH, 1959 B (B) 15th October, 1959
(C) 15 Tg=R, 1959 Bl (C) 15th November, 1959
(D) 15 feawR, 1959 @I (D) 15th December, 1959

23. YRAAY ¥ AT gRT YNGRV T foar 23. Broadcasting in India through Radio was

T started on :

(A) 13 dllg, 1917 @I (A) 13July, 1917
(B) 17 Jellg, 1923 &l (B) 17 July, 1923
(C) 23 dllg, 1927 I (C) 23July, 1927
(D) 27 Jdllg, 1931 I (D) 27 July, 1931

24. G U (Sh. o w) fow AW ¥ et 24 By which name/s is the grade of service

INE ST ST © ? (GOS) well known ?

(A) BT BT (A) Call congestion

(B) 9T Holg (B) Time congestion
(©) (A) 3R (B) S (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above
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25.

26.

217.

frefoRad & ¥ ®9-91 85-95% dd

ST g BT ST HRa & ?
(A) ST e

(B) 3mant ¢fhd

(©) (A) 3R (B) T

(D) SWE & W B &l

GHRICR H, AR AfeAT # Wit § -

(A) TvSs el oled
(B) PIURITA dacd
(O EEICERNSIENE

(D) SugTd aHl

BIgeR e Dl B I oIl ©

(A) 625 .
(B) 625 HI.
(C) 625 HIZHM

(D) 625 A,

EXT-5012

(10)

25.

26.

217.

Which among the following utilizes the

transmission line upto 85-95% ?

(A) Data Traffic

(B) Voice Traffic

(C) Both (A) and (B)

(D) None of the above

In  computer communication

includes :

(A) Standard telephone lines

(B) Coaxial cables

(C) Microwave transmission

(D) All of the above

Diameter of fiber optic cable is :

(A) 62.5cm

(B) 62.5m

(C) 62.5 micron

(D) 62.5mm

media
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28. U wdifed aiffear /dfsar wrge o 28. A compressed audio/video file can be

& w7 N ST AT o GadT 2| downloaded as a/an .......... :
(A) Bfa (A) Image

() & (B) Video

(C) e (C) Frame

(D) UG Wi (D) Textfile

29. HGR F¢dd ey Wy 9 S § uRadd 29. The communication network ideally

@ forv SR 3 suited for imparting knowledge change :
(A) T 9edd (A) Star network

(B) dfdel dcad (B) Circle network

(C) @ -cad (C) Wheel network

(D) RIY "cad (D) Slash network

30. Fal 9 fhdd YBR @ GaR <eaid garg 30. How many communication skills are

. given by Berlo ?
A) @ (A) Two
(B) T (B) Three
C) TR (C) Four
(D) UM (D) Five
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31, “C NN J% H9 qwgvﬂq)gm” HH 31. “The Theories of Mass Communication”

fpdrg ford 2 - book written by :
(A) TER ERI (A) Govenor
(B) TTIRR gRI (B) Defleur
(© A e © Magal
(D) fa=sel gRI (D) Windehl

32. < I e | I0d @é BRI TS I 32. Networked computer can share which

qJad B one ?
(A) BSRR, AMCRR TG Afdhs (A) Hardware, software and data
(B) i fS%h, ATk U9 ks (B) Optical discs, software and data
(C) TSRR, AUCIR T4 UTEd (C) Hardware, software and client
(D) SUgad JHI (D) All of the above

33. SfN<RRg R Hifear B 2 33.  Unguided communication media is :
(A) DIURITA DI (A) Coaxial cable
(B) WIER e dae (B) Fibre optic cable
(C) ffdes R od (C) Twisted pair cable
(D) ¥carse (D) Satellite

34. fowun @1 YN GEl §<y @l B 34. The distortion type where in the loss of
3Reaq Bt 2 ? message is maximum :
(A) @l (A) Fog
(B) 3 1 3t (B) Semantic
(C) HIgwm (C) Mirage
(D) SUYa H A Bl Tl (D) None of the above
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36.

37.

38.

EXT-5012

(A) 1967
(B) 1970
(C) 1988
(D) 1990

(A) faciy

(B) Sl. 378, UW.

(€) Tt 3 T g A
(D) <. . 8. ot

frafoed weee & @ dfsa
WeRM & foly dH-9 WM fbd S
g7

(A) SIS

(B) e

©) frwd

(D) ST W

frafafaa & 9 @F-A1/9  geEIfeT
AfcdR &/ ?

(A) BRIFA & U

(B) ¥ AR

(C) fa=eIot 7l #ex

(D) (A) 3R (B) I

(13)

35.

36.

37.

38.

The agricultural commutation project
called “Krishi Darshan” was started in the
year of :
(A) 1967
(B) 1970
(C) 1988
(D) 1990

.............. is not an image format.
(A) Bitmap

(B) GIF

(C) PIXEL

(D) JPEG

Among the following microphones,

which one is/are used in a Video

Production ?

(A) Dynamic
(B) Carbon
(C) Crystal

(D) All of the above

Which among the following is/are an
editing software(s) ?

(A) Final cut pro

(B) Dream weaver

(C) Windows movie maker

(D) Both (A) and (B)

Set-B



39.

40.

41.

EXT-5012

ST AT BT WRIES g1 AHAR W
BIT & :

(A) & TR

(B) € BRA B 91§

(C) G R ¥ [

(D) TTHAT TRV

IR UihdT § IR &I I A @

(A) doIdl
(B) fouram
(C) ®H Hxal

(D) SWa ¥ ¥ IS T

fefoied # & ®F-a1 [Ad=iad daR
e Tl © ?

(A) T

(B) dfdhel

(C) ®R

(D) SWad # | BIS T

(14)

39.

40.

41.

Creating a storyboard of a video

programme is usually at :

(A) Production stage

(B) After the shoot

(C) Pre-production stage

(D) Scripting stage

In the process of communication

production of noise ................ fidelity.

(A) Increases

(B) Hide

(C) Reduces

(D) None of the above

Which of the following is not a

decentralized communication network ?

(A) Chain

(B) Circle

(C) Star

(D) None of the above
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42.

43.

44,

EXT-5012

ol CRE R BT © 2

(A) 1w & S B @ dldd B

BT IIEY B oAb I Il |

(B) Tl dI. ®WH W TellBH & 9

T fexgmT

(C) AR d THPGRI &I USHAT Bl

Sl BhF W@
(D) I B TSHAT Bl Tl TH W

fiic ax

& Wy ¥ yIRIRG fhar o1 dbdr @

e forv 9 v o 2 |
(A) T
B

(C)

(D) 3maad

Th W HR B Herd fRmary e
g

(A) fafdrear

(B) wHIgE

(C) favadira

(D) ST W

(15)

42.

43.

44,

What is tele text ?

(A) Connecting the local telephone with
outstation telephones without STD

codes

(B) Flashing of telephone conversation

on TV screen

(C) Flashing of text of news and

information on TV screen

(D) Printing the text of the message on

the telex machine

Percentage of occupancy can be defined
as the percentage of .............. for which

the server seems to be busy.

(A) Speed

(B) Distance

(C) Time

(D) Volume

The basic character of a good message
is:

(A) Specificity

(B) Timeliness

(C) Credibility

(D) All of the above
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45. FON § &N ¢ 45. Levels of communication are :

(A) URER® (A) Conventional
(B) IIOTHS (B) Exploratory
(C) WA (C) Participative
(D) SWa &l (D) All of the above
46. TEUR' W& P IAN §8 & - 46. The word ‘communication’  has
originated from :
(A TE o | (A) Greek language
(B) R AT (B) Roman language
(C) oifed W & (C) Latin language
(D) WRRRM w9 & (D) Persian language

47. ﬁ?ﬂﬁ, HQ}ﬁ, HFﬁ, W@ﬁ Uq 9HY Bl 47. Sharing of ideas, facts, opinions,

ET-YeT BEalar & information and understanding is referred

as:
(A) FH9IT (A) Coordination
(B) TRmeror (B) Teaching
(C) aIferH (C) Learning
(D) ¥ER (D) Communication

48. IR Yfhar H W sdr Sard 2dr 48. Acceptance or rejection in  the

3. communication process is :
(A) I STAR (A) Treatment of message
(B) HIEH BT (B) Failure of channel

(C) U (C) Feedback

(D) I T 3IHd (D) Empathetic feelings

EXT-5012 (16) Set-B



49. H9R ufhar & forv Sfud Aar Fgad @ 49. The type of audience suited for

communication process is called :

(A) <fhg A (A) Active audience
(B) U Sl (B) Auvailable audience
(C) wIfaq sira (C) Potential audience
(D) SuYa H H Bl el (D) None of the above
50. WOR el H FHIRd & - 50. Communication barriers include :
(A) dDID! (A) Technical
(B) WD (B) Social
(C) and® (C) Economical
(D) Sugad Fl (D) All of the above
51. foRIC WOR &1 T G & : 51.  Mass communication has main problem :
(A)  HEUTUH (A) Costly
(B) I WINT &I HHI (B) No local dialect
(C) T& Wil el (C) Same information
(D) difsret (D) Burdonsome

52, 3fde AT § ARIed o & folt 9aR 52.  The communication type best applied to

largely illiterate people :

BT I 3T YN ¢

(A) Hfg® (A) Oral

B) forRam (B) Written
(C) 3uaRe (C) Formal
(D) IR (D) Informal

EXT-5012 (17) Set-B



53. 9gd WG] WA SUAE AT FAOR 53,

AR TR &
(A) FIRG o
(B) Tl A
(C) T

(D) SUIR ¥

54, YRS ¥ YorH HRR-YF ©UT o 54,

(A) WA AT
(B) R gfSAT
(C) el Tl

(D) TI3W 3T SRET

55. WRA™ U9 ge (41, <. armg.) i g3 ¢ 55,

(A) 1942 H
(B) 1949 H
(C) 1952 H
(D) 1957 H

56. WOR IdgR ¥ 379%9dh WU ¥ 2l © 56.

(A) I 9T BT

(B) I &I Uishdl oAl
(C) T BT

(D) Suda Wl

EXT-5012 (18)

Providing too much information is a

communication barrier related to :

(A) Communicator
(B) Receiver
(C) Message

(D) Treatment

The first newspaper published in India

was .

(A) Bengal Outlook
(B) Rural India
(C) Bengal Gazette

(D) Times of India

Press Trust of India (P. T. I.) was set up

in the year of :

(A) 1942
(B) 1949
(C) 1952

(D) 1957

Communication behaviour essentially

consists of :

(A) Information seeking
(B) Information processing
(C) Information disseminating

(D) All of the above
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S7.

58.

59.

60.

EXT-5012

eFH H OAQW RO @) R W oyd @ 57

forar FEarh ®

mew ................... %l 58.

(A) "R Yed

(B) TRIRY & HawC

(C) T TG a1 &I AEH-YaH
(D) SWE & W B &l

gl

(A) T AT

(B) P g

(©) (A) 3R (B) T
(D) SWa ¥ ¥ I3 T

HER-U3 U ST STl § 60.

(A) IIfTH FAR
(B) URWR® HaAR
(C) fRe IR
(D) g WHAR

(19)

The process before placing the message
in the channel is called :

(A) Coding

(B) Decoding

(C) Treatment

(D) Feedback

Communication is more

meaningfully ............. .

(A) Extension approach

(B) Subset of broadcasting

(C) Exchange of facts and feedings

(D) None of the above

Communication breakdown is a common
feature of ............

(A) Ulterior transaction

(B) Cross transaction

(C) Both (A)and (B)

(D) None of the above

Reading newspaper is known as :

(A) Intrapersonal communication
(B) Interpersonal communication
(C) Mass communication

(D) Group communication
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § grfd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©

TSI IR AT U IR I8 PIeT AT 98a T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T986 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
fuiRa WM & aremar =9 @8l W fear M
STR A T8l 81 |

3. TH. 3R, STR-U36 (OMR Answer Sheet) R
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e fd & SW wendt vy FRee B
3T OMR Answer Sheet SUTE &XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, YEH-GRADT & 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-geb, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

U & f2val U9 Sl wurRer § AT 89 @l
T H YT BT U WURYT & A BT |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

&
23
£
o
a,
|
S
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